A% B FM4E11A28

(Bf:M)
= R ¥ RE (M4 EHLEE
e | Aie TR a R | BRmR) | P
P MEHZLHRFITRINTIIUR
1 | & —EBEE AL e T 7,460,000 7,200,000
2 |&H—mEeAL Ei””igny&_b}ﬂa%mf 7,660,000 7,400,000
R O4EMESEHREBLEILISE
3 |&H—mBEeAi (1825835 48) 7,430,000 7,200,000
EE1
A % B SF4%E11828
I =E 4% MEBEZLHERFISRVNIIVARETLSE
¥ & & 7,460,000 (Fith=)
(Bf:M)
ALEBKA #1@E EALE g =
1 |MZFLE 7,350,000
2 |EABEM 7,200,000 %L
3 |BREEKZITE 7,300,000
4 |EFEFEEE 7,270,000

1/2 R—=




A % B SF4%E11828
[HEZMEIQOYTr—IS53AE/HE
%% T=
¥ & & 7,660,000 (Fith=)
(Bfz:M)
ALEBKRA #1@E EALE g =
1 |MFLE 7,430,000
2 |BFHEE 7,550,000
3 |BIRTIEIE 7,480,000
4 (ZEHEHKR 7,400,000 B
5 |BEiEREEE 7,500,000
&E53
A AL H AFf4E11 828
O4EMHESTHMBELS
T4 (712583 248)
¥ E (4% 7,430,000 (Fiik=)
(Bfz: M)
AfLERA E1E EILE g &
1 |BWTEZEEH% 7,250,000
2 |BMFHEE 7,200,000 AL
3 |BMKERE 7,280,000
4 |¥LRERE 7,300,000
5 |BREEKRIE 7,250,000

2/2 R—




